Bihar Public Service Commission
68" Combined (Preliminary) Competitive Examination

Explanation regarding 46 Questions on which Objections were received from Candidates against

Final Answer Key dated 04.03.2023

Srl.| Series-A Series-B Series-C Series-D Remarks

No.|Q.No.|Answer| Q.No. |Answer| Q.No. |Answer| Q.No. |Answer

1. 4 B 47 C 100 A 127 B No new and additional facts are given in this
objection, Hence answer is correct. The
objection is wrong / rejected.

2. 5 D 48 D 91 D 128 D No new and additional facts are given in this
objection, Hence answer is correct. The
objection is wrong / rejected.

3. 10 A 43 B 96 C 133 A No new and additional facts are given in this
objection, Hence answer is correct. The
objection is wrong / rejected.

4. 12 D 57 D 109 D 142 D No new and additional facts are given in this
objection, Hence answer is correct. The
objection is wrong / rejected.

5. 15 E 60 E 102 E 145 E No new and additional facts are given in this
objection, Hence answer is correct. The
objection is wrong / rejected.

6. 16 A 61 B 103 C 146 A No new and additional facts are given in this
objection, Hence answer is correct. The
objection is wrong / rejected.

7. 17 B 62 C 104 A 147 B No new and additional facts are given in this
objection, Hence answer is correct. The
objection is wrong / rejected.

8. 18 E 63 E 105 E 148 E No new and additional facts are given in this
objection, Hence answer is correct. The
objection is wrong / rejected.

9. 19 A 64 B 106 C 149 A No new and additional facts are given in this
objection, Hence answer is correct. The
objection is wrong / rejected.

10.| 25 D 55 D 115 D 138 D No new and additional facts are given in this
objection, Hence answer is correct. The
objection is wrong / rejected.

11.| 28 B 72 C 126 A 14 B No new and additional facts are given in this
objection, Hence answer is correct. The
objection is wrong / rejected.

12.| 31 D 75 D 129 D 02 D No new and additional facts are given in this
objection, Hence answer is correct. The
objection is wrong / rejected.

13.| 34 B 78 C 117 A 5 B No new and additional facts are given in this
objection, Hence answer is correct. The
objection is wrong / rejected.

14.| 38 B 67 C 121 A 9 B No new and additional facts are given in this
objection, Hence answer is correct. The
objection is wrong / rejected.

15.| 41 E 87 E 143 E 32 E No new and additional facts are given in this
objection, Hence answer is correct. The
objection is wrong / rejected.

16.| 42 E 88 E 144 E 33 E No candidate had given any objection on this
provisional answer and as such it was
declared final answer. Now, objection has
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been raised which is time barred. Besides, no
fact/evidence is given to substantiate the
objection and contradict the answer.

The earliest reference to the use of
Iron (from the present) in Indian subcontinent
does not go back beyond 3000 years. This
period is not given in any of the option A, B &
C. So the answer is E (None of the above).
Hence answer is correct. The objection is
wrong /rejected.

17.| 51 B 97 C 133 A 22 B No new and additional facts are given in this
objection, Hence answer is correct. The
objection is wrong / rejected.

18. | 53 C 99 A 135 B 24 C No candidate had given any objection on this
provisional answer and as such it was
declared final answer. Now, objection has
been raised which is time barred. Besides, no
fact/evidence is given to substantiate the
objection and contradict the answer.

Following the criticism of the
Montford Reforms scheme by the congress,
the group of old Moderates setup a new
organization 'The Indian National Liberal
Federation'. Sapru, Jayakar, .... where among
its founders. Hence the correct answer is 'C'.
The objection is wrong /rejected.

19.| 54 B 100 C 136 A 25 B No new and additional facts are given in this
objection, Hence answer is correct. The
objection is wrong / rejected.

20.| 57 A 83 B 139 C 28 A No new and additional facts are given in this
objection, Hence answer is correct. The
objection is wrong / rejected.

21.| 64 E 114 E 24 E 39 E No new and additional facts are given in this
objection, Hence answer is correct. The
objection is wrong / rejected.

22.| 86 E 106 E 16 E 61 E No new and additional facts are given in this
objection, Hence answer is correct. The
objection is wrong / rejected.

23.1| 93 C 140 A 48 B 68 C No new and additional facts are given in this
objection, Hence answer is correct. The
objection is wrong / rejected.

24. 1 96 A 143 B 31 C 71 A No new and additional facts are given in this
objection, Hence answer is correct. The
objection is wrong / rejected.

25.|1 98 A 145 B 33 C 73 A No new and additional facts are given in this
objection, Hence answer is correct. The
objection is wrong / rejected.

26. | 100 D 147 D 35 D 75 D No new and additional facts are given in this
objection, Hence answer is correct. The
objection is wrong / rejected.

27.1101 D 148 D 36 D 76 D No new and additional facts are given in this
objection, Hence answer is correct. The
objection is wrong / rejected.

28. 1102 C 149 A 37 B 77 C No new and additional facts are given in this
objection, Hence answer is correct. The
objection is wrong / rejected.
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29. | 103 C 150 A 38 B 78 C No new and additional facts are given in this
objection, Hence answer is correct. The
objection is wrong / rejected.

30. | 105 B 132 C 40 A 80 B No new and additional facts are given in this
objection, Hence answer is correct. The
objection is wrong / rejected.

31.| 106 E 133 E 41 E 81 E No new and additional facts are given in this
objection, Hence answer is correct. The
objection is wrong / rejected.

32.1108 A 135 B 43 C 83 A No new and additional facts are given in this
objection, Hence answer is correct. The
objection is wrong / rejected.

33. 1110 A 137 B 45 C 85 A No new and additional facts are given in this
objection, Hence answer is correct. The
objection is wrong / rejected.

34. 112 B 7 C 62 A 107 B No new and additional facts are given in this
objection, Hence answer is correct. The
objection is wrong / rejected.

35. 1113 A 8 B 63 C 108 A No new and additional facts are given in this
objection, Hence answer is correct. The
objection is wrong / rejected.

36. | 116 B 11 C 66 A 111 B No new and additional facts are given in this
objection, Hence answer is correct. The
objection is wrong / rejected.

37.1118 C 13 A 68 B 113 C No new and additional facts are given in this
objection, Hence answer is correct. The
objection is wrong / rejected.

38.1 120 C 15 A 70 B 115 C No new and additional facts are given in this
objection, Hence answer is correct. The
objection is wrong / rejected.

39. |1 121 B 16 C 71 A 86 B No new and additional facts are given in this
objection, Hence answer is correct. The
objection is wrong / rejected.

40. | 122 A 17 B 72 C 87 A No new and additional facts are given in this
objection, Hence answer is correct. The
objection is wrong / rejected.

41.1 129 E 24 E 79 E 94 E No new and additional facts are given in this
objection, Hence answer is correct. The
objection is wrong / rejected.

42. 1 131 B 26 C 51 A 96 B No new and additional facts are given in this
objection, Hence answer is correct. The
objection is wrong / rejected.

43.1 132 C 27 A 52 B 97 C No new and additional facts are given in this
objection, Hence answer is correct. The
objection is wrong / rejected.

44. | 133 A 28 B 53 C 98 A No candidate had given any objection on this
provisional answer and as such it was
declared final answer. Now, objection has
been raised which is time barred. Besides, no
fact/evidence is given to substantiate the
objection and contradict the answer.

Petiole, a part of leaf, attaches leaf to
stem by leaf base. It also helps leaf blade to
light & allow them to flutter in wind. Creepers
are plants with weak soft stem that grow
horizontally along with the soil since they
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cannot stand upright. Trees are tall and big
plants having one hard woody stem, the trunk
bearing wood branches, leaves and twigs
always at some distance from ground, not
near the base. Shrubs, on the other hands are
plants with woody stem (thick, hard) with
branches of almost equal size arising from the
stem always above the soil near the base.
Option 'B' and 'C' are correctly matched while
option 'A' is not correctly matched. Hence
option 'A' is the right answer. The objection is
wrong /rejected.

45.

134

29 c

54 A

99 B

No new and additional facts are given in this
objection, Hence answer is correct. The
objection is wrong /rejected.

46.

147

40 C

82 A

119 B

No new and additional facts are given in this
objection, Hence answer is correct. The
objection is wrong /rejected.




